Efficiency vs P,

T
9
foe

ermciency vs p

0.3
0.2

0.1+

o
N
IIIIII

o
(o))
TT 7T

0.4F

.................................................

................................................

Ratio

0.95F -~

1:—- -4

OAG:

107 1 10 prT (Ge\})o3

—=— DQM_CKF _TTbar
—e— DQM_mkKFit_TTbarPU-ncp
—+— DQM_mkFit_TTbarPU-newTr5

= 0.5

o 2
2 0a
»_ O

efficiency vs

0.35F

©
w
T

................................................

Efficiency vs ¢

e 0.5

clency

£ 0.35F
5} =
0.3
0.25F
0.2f
0.15F

(2] ::
> 0.45F -
0.4F -




	Contents
	Page 1


